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public interface MutableRational {
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public interface ImmutableRational {
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public class SimpleRational implements ImmutableRational {

private int num;
private int denom;

public SimpleRational(int num, int denom) {
this.num = num;
this.denom = denom;

}

public boolean equals(SimpleRational other) {
return num==other.num && denom==other.denom;
}

// the rest of the class...

.equals nnwn 7w 09011 D'wIM™M n'7'>n NI'R NE7NNN
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public class TestRationalEquality {

public static void main(String[] args) {
SimpleRational r1 = new SimpleRational (1,2);
SimpleRational r2 = new SimpleRational (1,2);
ImmutableRational irl = new SimpleRational (1,2);
ImmutableRational ir2 = new SimpleRational (1,2);

// HERE

7w main-n N'¥PI92 NTANYT [N DR 1YY NINAD TIPN DNIYN DNR 72 1y
NNYOXN NX 1110 .// HERE naynn nina TestRationalEquality nz7nnn
NOIVN NNV IR L(ARAWD NN 127X LD DR) N'X7'9N017 NIX'AY NN DX NARNDNN
NN 17X LD OX) NI'PN NN YN TIRnY IR L(NQ'0 NT'RN 17X, |D DKR) NXM T

|2 ON) equals NNWN wIN'Mm2 AN QIYN' X YN TIiznw IR (NO9ThN 079 N
.(axan n2'o Nl NODTNN VY79 NI'NY% N AMN NN ,NODTNN U9 N NN 1YY

N
System.out.printin(rl.equals(r2));

/ (09Tm nn) 'pn TR / (D2'on Nn) Nx¥N AT 91N / (?'nn) nY?'onip NRAaY
(7a82n N9'X 709TIM NI'NT7 ANK NN 709TIN NN) AR QUIND |'PN TIR
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a
System.out.println(irl.equals(ir2));

/ (09Tm nn) 'pn TR / (D2'on Nn) Nx¥N AT 91N / (?'nn) nx?'onip NRaY
(7a82n N9'X 709TIM NI'NT7 ANK NN 709TIN NN) AR QUIND |'PN TIR
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System.out.println(rl.equals(irl));

/ (09Tm nn) 'pn TR / (D2'on Nn) Nx¥N AT N9IN / (?'Nn) nx'onip NRaY
(7a82n N9'X 709TIM NI'NT7 ANK NN 709TIN NN) AR QUIND |'PN TIR

T
System.out.println(irl.equals(rl));

/ (09Tm nn) 'pn TR / (D2'on Nn) N¥N AT N9IN / (?'Nn) NY7'onip NRAaY
(7a82n N9'X 709TINM NI'NT7 ANK NN 709TIN NN) AR QUIND |'PN TIR

rl =irl;
System.out.println(rl.equals(irl)

/ (09Tm nn) 'pn TR / (D2'on Nn) Nx¥N AT N9IN / (?'Nn) nx7'onip NRAaY
(7axan N9'X ?09TIN NI'NT MK NN 709TIN NN) AR QUIND |'PN TIR

irl =ril;
System.out.println(rl.equals(irl));
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public class SomeClasss<T> implements Iterable<T>{
Il rest of the class...

public class Uniquelterator<T> implements Iterator<T>{




